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1 mod
00000 mod OOOOCOO \bmod 0 \pmod 0 2000000O0O
e x \bmod p = z mod p

e x \pmod p = z (mod p)

2 hold in MuPAD

MuPADOOOOOOODOOOOODOODOOO heldOODOOOODODOO
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e info(hold)

hold -- a function of the system kernel [try 7hold for help]

o x:=2

® hold(3*x0-1+2"2+x)

30-1+2 +x
e 3x0-1+272+x

5
e print(Unquoted,generate: :TeX(hold(1+2+3+4+5=15)))
1+2+3+4+5=15
e print(Unquoted,generate: : TeX(1+2+3+4+5=15))
156 = 15

e In(x)-1n(x)

0

e print(Unquoted,generate: :TeX(hold(1n(x)-1n(x))))

\1n\left(x\right) - \ln\left(x\right)
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\begin{eqnarrayx*}
\Gamma & \Lambda & \Phi \\

% \Delta & \Omega — r Ao
\end{eqnarray*} A Q
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\begin{eqnarrayx*}

\sum_{k=1}"n k(k+1) &=& \sum_{k=1}"n k"2 + \sum_{k=1}"n k \\
&=& \frac{n(n+1)}{2} + \frac{n(n+1) (n+2)}{6} \\
&=& \frac{1}{3}n(n+1) (n+2)

\end{eqgnarray*}
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_ nn+1)  nn+1)(n+2)
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= %n(n +1)(n+2)
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\begin{eqnarrayx*}
\sin\alpha &=& 2\sin\frac{\alpha}{2}\cos\frac{\alpha}{2} \\
&=& 2\cos"2\frac{\alpha}{2}\tan\frac{\alpha}{2} \\
&=& \frac{2}{1+\tan"2(\alpha/2)} = \frac{2t}{1+t"2}
\end{eqnarray*}
=
na — 2sin® cos &
sine = 2sin 5 cos 5
= 2cos2gtan%
2 2
1+tan?(a/2) 1412
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